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Homework l

l proof If fcx o 0 which means thereminder
is no when x isdividedbyn andalsoby nz
Because n and m are relativelyprime
X should be amultipleof nm or to

Since a xan.az To

Then if flxikflxzs.tlX_X2 0 So Xi Xiao X ⽕

So f is one to one

And since Io nini 1 and 0 m 0 以⻔ have

the same number of elements and f is one to one

then it must be onto

Since f is one to one and onto it is bijection

2 Ítj 5 i

i i j i it
In dividing pizzas it is betterbecause it is
easier to divide less times



fix ⼆ Xmod3了 x mod7
f 1 1 1 f 2 3.3 f3 10.3 f 14 1 4 f15 2，5

f 6 0 6 f 7 1 0 f 8 12 1 f 9 10，2 f 4 1，3

11 2.4 f 12 10.5 f 13 1，6 HH 21 0 fl 5 10，1

16 1，2 f 7 2，3 f l18 10，4 f119 11，5 flu 2，6

a 20

b 4
a 9


